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1. UG T S 4 & %.(A) AGP (B)IDE (C)SCSI
(D)USB (E) 4 + % 2

2. IEEE 1394 £ c(A)b-id @45 4 & (B)CPU (O)# st

e (D) EA g+ (Bt w2t

3. DDR #_#7:9(A)CD-R (B)CPU (C)Disk (D)Memory

(E)Network *#%

4. #4 17 T 4L & Relation algebra p¥ i 838 5 ¢ & 4 & 5 el

(A)Cartesian product (B)Difference (C)Join (D)Projection (E)Selection

5. M e R4 7% R #c(Boolean algebra) & ;4 (A)X +1=1

B)X*X=1(O)X(Y+Z)=XY+XZ (D) X+Y=X*Y (E)rt} % &_

6. P aipIPaddress 2.4 7 b izl s (A)8(B)I6(C)32
(D)64 (E)128

7. TR RSP FES TR E-E (A)Graph (B)Hash
Table (C)Linked list (D)Stack (E)Tree

8. MT mAAERNFD R EFEL 7L I(A)ADA (B)C
(C)COBOL (D)PL/1 (E)PROLOG

9.  JAVA &G A rxBaEFidd (A)wMBeizit (B)? a1 ivL
SO D) R (B)RE

10.  Riem o aivd ksd (A)DOS (B)Linux (C)Mac OS
(D)Solaris (E)Windows

1. BEX- Bifps AR SOns’*if?ﬁ#/w\%V’f[%ﬁ%I

IF(10ns),ID(10ns),EXE(10ns), MEM(ISns) WB(Sns).%# 3 100 &35 £
B H 7 > 12 pipelining B % S ns ¥ U TR :i ? (A)500
(B)1000 (C)1500 (D)5000 (E)10000

12. T Al e AL C-C #3 enT + F 7% ? (A)Amazon (B)ATM
(C)eBAY (D)Hot-mail (E)rz F % 2t
13, BAAEEEENRYLIVEEAPTS B2 (A)B-B

(B)B-C (C)C-B (D)C-B (E)C-C



14. REPF73 ARG B RFET PAMERS(ABMP

(B)GIF (C)JPG

15, A2 aud#icd ot 7 11111110 £ 57 (A)-1 (B)-2 (C)-3
(D)-4 (E)-5

16. 2VnmEe g KiT 2V P AE R LT 2(A)GB)H
(OL (D)P (E)T

17._ B-tree(A)&_ (B)* &_ — #& binary tree

18._ 7™ CPU 12 | e 4 2 Average Waiting Time #.

(A)FIFO (B)FILO (C)Non-preemptive SJF (D)Preemptive SJF
(E)Round-Robin

19. T fm ﬁ 7 #_Deadlock z. Necessary Condition ? (A)Circular
wait (B)Hold and Wait (C)Mutual Exclusion (D)Preemptive SJF (E)
+ % #_Necessary Condition.

20. CH++3EZ eh$#ciB 2 L (A)by reference only (B)by value
only (C)by address only (D)by value §= by reference (E)by value fr by

address

21, Z iEi=#11011.11011 2+ =~ &= 4 7% 2 (A)IB.1B
(B)1B.B1 (C)1B.D1 (D)1B.D8 (E) 4 + % 2

2. -3k %\fi%{ﬁm 1024*768 True Color 8- 4k % 9 ik 5 > K
byte ? (A)750 (B)1400 (C)2300 (D)4500 (E)8600

23. N R ﬁ H_7 Tree % 4 2. sorting algorithm(A)bubble sort
(B)heap sort (C)insertion sort (D)quick sort (E)merge sort

24, RSAalgorithm £ 12 7 78— i keyword & F B 7% ?
(A)Compression (B)Encryption (C)Networking (D)Searching
(E)Sorting

25._ 1472 C++ function overloading %]+ » 34 {7 main() ¢ & !
(A)5 (B)6 (C)6.5 (D)7.5 (E)8

void sub(int x, int y=3)

{

cout<<x+y<<endl;
}
void sub(double x, int y)
{

cout<<x*y<<endl;
}
main()
{

sub(5, 1.5);



(Z) #3 D~ Fehdg £ 0 @ 4235 i 12 bubble sort ;% #-a 5| P
a[l]...a[10]2 FALiRERE > A2 AR REFDRFRF 4> &
& 148 @A)(10%)
for pass=1to 9 step 1
fori=1to_ (1) step1
ifa[i] _ (2)  a[i+1] then temp=a[i] : a[i]=a[i+1] : a[it]1]=temp
next [
next pass

(=) Bk — linked list %4 » + 1 node 7 data {c link & 4§ i+
head > 1y >
* ix P 475V 3% 3 pseudo code ® — B reverse print Y% BlARS 0 AR K
= B #-linked list » #75 data #ff =p % E° (R &7 1 & {8 — B node ¢
data > £ B7 ) 5|8 % = 1 node “hdata...) - B4%3;% 7 — % ¥k head(head
% linked list 2. % — % node 2. =4t > % _NULL B &_empty list)°(10%)

(PY) 3P ADSL 2 @ F ~ T @23 R 73 - & 7 (10%)
(71) 3} RAID ? RAID 4riv 38 i ? (10%)

(*+) i3} Data Mining ? (10%)



